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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.
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1.

12

4+l L ) : x4+

G-D@E) G D(x+2)
(&) Animproper fraction /=l & (B) A proper fraction /_21

(©)  Anidentity =1 (0) A constant termd .

The set having cnly one element is called: ﬁ’/ S ;.Q_J/u:u" e
{A) Nullsetexye (B)  Powersetirsy (C) Subset .u;&” / ¢) Singleton set L0t
The number of elements in a power set {a, b, c,d} is: {./wjk;mé../ﬁgé{g b,c,d}
n 4 ®)" 6 © 8 g (Dy/ 16

Sum of the deviations of the variable x from its mean is always:——g.tn__ 2 ,f £l /(Z-_wdb{ws’x

) Zerop B) One i / o \\Same&,f \ (D)\ Diffé@nt_d?

Cosec? § — cot?d = b Coseczﬂ - cot?e =
£

) 0 B) ) \ \ \1 \ Yl)\ “2“”

Radius of a circle are; e \ \ \ ‘x, wuwff‘,/um.ﬁ

(A Allunequals.Zer  (B) / Aﬂ equal /u(lﬁ ‘k]alf of any aw\rd/_n‘&( oj ) (D) Double of diametert’s= #

Tangents drawn at the ends of d:arfve;er ofa c:rc\e\are L—taeach other\ -‘_::m \du’ WL LEL
~
(% Perpendiculans,s* (B)‘ { Non oaral/élrjﬂr 4 (0 \ Pafaﬂetw,/ @ Collinearss

kY o
Adcmlong choﬁ@\é?tands a central angle‘ef 60 Tz radial -} ¥ Itr_g b 1366017 //‘,uuéw‘u{l
segment of }hls circ g \\ } RN
N, /
®) / RN 3cm // J 2cm 0) 1cm
Angle insefibed in a'semi-circle 15' ],w'*'"*”‘ / e b A isr® Sl S
TN LAY 7 T
W Y (B) N5 0 7 0 n
The number of methods to\'solve a quéﬁtaﬁg:@quation is: BB pE LSS 2t Borss
) 1 B 2 ©) 3 0) 4
Two finear factors of x2 — x — /20 are: W GG Ll x? —x —20
W @E-&Ex-49 B @E-5&x+4 ([0 (x+5&x+4) 0 @x+5&(x-4)
Cube roots of —1 are: e l~1
(A -1 @, ~w? (8) -1 — w, w? € 1 — w, —w? 0 -1-0-0?
i - % is equal to: ‘gt é = %
B—x « B 1 1 1
A L B —t B = D -
A = ®) i © - Bt
Inaratio x: y,y is called: e bl ytxyes
(&) Relation”  (B) Antecedent/.¢ (C)  Consequent’.s »  (0)  Proposition &
Find y in proportion 4: y:: 15:5. Ly y 155 o
3 4 4 5
zZ B - & = D -
W : ® . © - o :
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SECTION-| J;l/? ’

2. Write short énswers of any six parts from the following:  (2x6=12) g fehe B Lomga S adits 2
i. Define reciprova’ etjuia: ori. e oy Pleblgis
ii. Solve by factorization: a2 - 302 =0 /}’ L Sias
fii. ~ Solve the equation using quadratic formula: - 4x2 = 3x =14 /), ]ufd’a..umbd»»f...uv i

v.  Find the discriminant of the quadratic equation: 9x? + 25 = 30x i Y frjy, s /(y,,[/&m, v
V. Find the sum & product of the roots of the equation:  3x? —5x +7 = 0 J{r /(f’;,,,u,f Wu sl ¥
vi. Evaluate: WATTE5 \ Nl i
T " .- // ”'\\\ \\ : 1 u
vil. - Define inverse variation. \_ g o J ol i

vill. I g x5 and a = 3 when b = 4 findvalue of K. i % -u>\<JJKXb 4 ﬁa = Qa}( i

e,

ix.  Find a mean proportional between ZOAS \\ \\ \( 20, 4%)’4"(/1)'0 Ly X
3. Write short answers of any six p;rrts from the foTlfwmg %, (2x6 1’2{ q\/j /’.\W/’ Longedftdsen 3
i.  Define an identit § AT \, \ N i

Y. { 7 \X L,M., - Q. \ \‘ !} S fledv
i L SR ST g WAl N T
e = > then 1find the valugs of A & B. \.L/frWJB/M g = o ptdl
i. ~ Define a bij e;hve\[\ncﬂon {Iw' AN\ 4 \‘ o /’Jd‘té? rg’dt Jii
Do &t v
iv. lfx—G)y ;,z+thenﬁndxny i / ‘é’«_’r:b"xnyﬁnx=¢,y=z+ﬁ v
v. Find a* and \b "’\ (;;,—:WZL,‘IJ;{IZJ)/ = (2,1) :/'éf’w bodg
Vi lfy={-2,1,2} then make f\‘No bmary relaﬁQns fgp»y X y: by X yiny = (=21, 2})7 i
vii.  Define arithmetic mean. \ \ / o A dbage i
vili. -~ Find geometric mean of: - \\ 2,4,8 1 ('"’” bl a1 il
ix. Find the range of following vge}ghts of students: zfr}v(Range v"Ju' Ml Lo ix

112, 109, 84, 89, 77, 104, 74, 97, 51, 59, 103, 62
4, Write short answers of any six parts from the foilowing: (2x6=12) :u_/}j ez L»zug;éf S A4

i. Define radian. Sl ys
i Convert315" into radian. GIde L35
ii. Find area of the sector of a circle of radius 16 cmifthe angleat -/ /,,;(16‘;;;/{& ‘J;/(P FK B i
the center is 60°. B0 s
iv.  Prove that: z 1 = 2c0sec? S W

1-cosé t 14+cosf

v. Define acute angle. i P stinse

K P.T.O. __---_,'A!J»




Vil
Vi,

vii.

| LT et L

Note:

Ruop-1-2s

Define circle:. :

Define circum-angle. ey AR
Define in-circle. ' S et
Divide an arc of any length into two equal parts. LI PP e SIS

SECTION-II (6x3=24) (1
Attempt any three questions in all while Q.No 9 is compulsory: :‘gdjus?ﬁf,‘fﬂéqf/jppzégwyd S
Solve the equation: 2x* —11x2 45 =0 f/:,?’ S e

If ¢, B are the roots of the equation x? — 3x + 6 = 0, form urJ,/Fx? 3% + 6 = Obsleog, B
equation whose roots are 2 o< +1,28 + 1. i dc _,_1,‘2@4 10.%,15 bt

Find a fourth proportional to: X —11x+24, x §\x - 4 g ﬁ( 3
Pl \ \>
S i i 7 S
Resolve DD into partial fraction. {/ ‘\ \\ ,é{/y Ful /6} (x\;)(x =

Provethat AN(BUC) = (AnB)U(4An cst f)vw\(a U C) (“A n B) U A0 C)féfut‘
A={1, 2,3, 4,5, 6}\ B={2, l\‘e 8}, C{1, 4, 8} g

Calculate variance of the data o ’”M““\\m 8, §>7\5 12\‘8 6 8, 2\ \ i}#‘gﬁ(;uf

If sinf = — and terminal a’rm oithe@ngle disnotin A 4

Ny

quadrant - Hl Find the valu sfof remamﬁg tngonométﬁc = N/ g
functions. u 7 \% M S SES
Inscribe a lrcléqg an equilateral trnangfe ABC with e2eh srd}e of  ALUIEE i (ABC Lo Sl
length 5 ém \\ il odude?
Proveéhéf ) chords' o a circle which are equndlstant,fré)ﬁ the AlUsbobigslo e F p 25 La s ot
center, are congruent . 7 o "

\'! b ,/ _U]LnJ [V

\‘ % L —
"‘\ OR
. OR y (L)
Prove that the opposite ang s of gmf quadrilateral inscribed in a GRS LA gt et
circle are supplementary y e S pe
e : 22-10-A

nyey 1o
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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, € and D to each question are given. Which
answer you consider correct, fil the corresponding circle A, B, G or D given in front of each question with Marker or Pen ink on the answer sheet provided.
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"

13.

14.

A fraction in which the degree of numerator is less than the degree of - o Bl s
denominator is called: : . e O nf eSS ST RE PN

(A Anequation=tt~ (B}  Anidentity £ (€ Aproperfraction /2 (D) An improper fraction, /&

fU ={1,2,3,....,10} and A = {3,4,5} then As: e diA= (3,450 = {123, ..., 10}/ 2
) {1,2,3,4} (B) {3,4,5,6} © {4,5,6,7,8} /,,/"(D)"”Thz@ 7,8,9,10}
The number of elements in power set of {1, 2, 3} is: .L/ 'Q:;;ﬁffw{/iﬁqj,\gﬁl;{l, 2,3} 3
® 8 ®) 4 ©) 6 i .0 \\\ N
If A < B, then A U B i equal to: ///’ \ A Opind 4 B 4
o B ® A o /7 o N\ oA
The spread or scatterness of observations in a data set is callg’é: ;‘[ e .Mg(.-}wjzii mf 5
(A Averages-s! (B) Dispersion  (C) é:entr%l te;\dfri&;k;:@‘x (D) M ey{;
Cosec?8 — cot?0 = — \ \"‘///"‘*\ \.Cosec?6 /’c/JtZG = 6
(") 4 B 0 N @ %Q\n 2N W /!
Locus of a point in a plane equidistar}t’from a@_(eg point is EQIled: \,"l\ q\wf umﬁu‘x;uafiﬁ;ﬁ" rerkisilgs T
(A Circle o713 (B) ! ;»"/Radius\ :}‘49\1 ‘\i €} Errcy\mferen(\;\e"iszi /é)) Diameter 4
A circle has onlylg\rle Y "‘! ‘ 0, R T LI Syl ZA PR
(A Secaﬁ d’bb‘ (B) Centre ¥ 1 5’ © //} \ Chord 7 D) Diameter 5
The length ot,ﬂ%iggiamete; dta circle is how many fimes trie in’a/\ditl’si)f the cigle? s dnfELymLemdlipLendi 9
moo AN s oo 2 o 1
Two linear factors of 5‘53_\‘- 15x 56 are: - i B ndnL x* —15x +56 10
B c-N&EEDLE FD&E %) 0 x-naE-8 0O @GFN&E+E)
Solution set of the equation A x — ﬁb?;ié}is: e e fhx? —x = 20 = 0zile A
0 {-4,5) By s ©) @Bsy -0 {-4,-5)
Discriminant of the equation xzé;'-ﬁ'ﬁ"x +3=0is - sl x2 ~3x+3=0 .12
) +3 ®) 5 © 15 0) 4
Two square roots of unity are: il ,Ju;,,,&da 13
A 1, (B) 1,~w ) w, w? ()} 1,-1
A mean proportional between 20, 45 is: te e dhst20,45 14
(A) +30 B = t20 © +45 )] +10
f uoc v2, then: Juxvi/i A5
(A) u=v? (B) u = kv? © wv? =k 0 w?=1
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Time: 2:10 hours (GROUP-II) Marks : 60
SECTION-| BUO P =2r2= it

2. Write short answers of any six parts from the following:  (2x6=12) S eliz P L'tzugz,éf whits 2

i.  Define extraneous root, Ey e
ii. Solve by factorization: 5x2 = 15x (E S F s
iii. Solve the equation by using quadratic formula: —xZ= Tx—2 1Y SO (NPT SO RV Jii
iv.  Find the discriminant of:_ x? 4 3x = =5 . S W
v. Evaluate: 037 + 3+ 1 {/:x N med Y
vi.  Write the quadratic equation having following roots: 4,9 \ 1 f .‘:supd’» ”W”J’C” Vi

71

vii.  State theorem of componendo-dividendo: ¢

% \ \*--“f”“r‘””)’rf"‘” i

Vil |fg o anda=3when b=4findvalueof K./ ,J/(PJJK{;« b=4 ﬁg/é\s,,na\x Ly i

/
i
>
i

/ {
ix. Find a mean proportional between: 2();:3}55, 5x7y A e ufu,d Ly X
R
j
3 Write short answers of any six parts from the following: l (25‘\3,«47) u/ J ...\w,” Lozig Jf SEdits 3
i. Define proper fraction. /,,‘.f"““ ~ \.\ {,\ \ \‘ / L P8
[ o R N \ } _5_ di
b W= b then find the vfalues 3f<1 & B\\ .\L‘ _Jy@'JL}B\AIA S /7
iii.  Write all the subsets of {a, b} ¢ % \ k:,/, Salf W L{a,byer
¥ W= (12,200 0= e, 9‘}*and | I TTTTIB = {2,4,9}A = {1,231 W
f—{(xy}]y axVXeA Yesy | | ) \ F={(y)|y=2x,YX €AY €B)}
then find D’omam ¥ and Range f. % ‘i/ & //’ N N
\ ;
v L= b i, M = {4, S}fndl, xM. | // S LXMIM = (4,5)L = {a,b,chSi
vi fX=¢andT = A then ﬂnd X nT. ,/ S XNTIT =2 0X = oS M
i, Define harmonic mean. \ N / LS S ETA i
viil. ~ Find the arithmetic mean by\f/?it/ meth/od Sl S g ey Vi
Nurbér of heads " 2 3 4 5 .
Frequency 3 8 5 3 1
. Find the median of the data: 11500, 12400, 15000, 14500, 14800, 16200 L sy X
4. Write short answers of any six parts from thefollowing: ~ (x6=12) /27 ez @ Lamgadfbdits 4
i. Define angle of elevation. LE e
i Convert%’E rad to degree. ~EdensSs E7~trad A

(PTO) (élun)




Vi
vii.

vii.

Note:
5.(a)
(b)
6.(a)
(b)

7.(9)

prfz~z'{ |

Find 6 when : l=4cm;r=Tcm By #0
Prove that: Sin3@ = sind — sinfcos? 0 St
Define sector of circle. _ E KL n
Define circumcircle e J S tin
Define cyclic quadrilateral. ISV NN IR Y
Define regular polygon. \ e /JJCW ,50,{,
The length of a each side of a regular octagon is 4 cm. Measure e (‘VJHJOP s o
its perimeter,
SECTION-ii (8x3=24) /a.ﬁf""
Attempt any three questions in al! while Q.No 9 is compulsory: 4.6;119 Y4 dﬁr}a{/ / AR ymruf s F
Solve the equation: 2x*-11x2+5= / \ \\ St
Provethat. B +yi+2z°-3xyz = (x+y+2) (x-b/ y+a)zx<z) (x+\m y+a)*§) té{ub‘
Find x in the proportion:  8-x:ll-x: ’Zt [— x:25= x\ ”Z’Pf_)ngu%./b
Resolve into partial fraction: % | o, U/ J:hf u:?lfu,f
(x +3)(xf + p vl “
i L—-{xleNAxSS} Mr{ J( PAyaam} // y
Then make a relation fro;pi, oM LLW{M = &U;.&M

Ry £ (o) y= X 2, Rz—{(x;}’)‘l\)"x}\/
Findstandard doviaion S | ,/ 267,315 10485 - S el

ftan 6 == andgme is in quahhnt 11, find thﬁ values of S dbh?”u‘ Yo ~sinfuitan 6 = —/
other tngono;netnc flsnctions at 6. VS AN g ad 86 J‘w
Draw two ,;pqndlcular takgents to a circle of rad‘uéﬁ cm. // _f! JWrF nl e il b0
Prove that a stralgthe dra»h%grom the center ot acirclefo opisect  Slxzpz s e S pLain S gt
a chord (which is not Nfameter s perpendicular to ) thé chord. bt 55 AL S
\\ \
R ”‘~~~‘f¢* (L)

Prove that the measure of a cental gagle ofammor arc of SN By ] Hoi§ L

a circle is double that of the an s} btended by the it i Pl ol et )"{ g: i

comresponding major arc. < bt et Lo dUd 3G
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